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Unlti Linegr Functions

1. Which equation best represents the graph
shown below?
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2. Write a linear function that includes the points
(1, 2) and (3, -2) in slope-intercept form.
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3. Alex and Millie are selling kites from their
store near the beach. Each day more people
stop to look at and buy the kites. Alex and
Millie kept the following record comparing the
number of customers that stopped to look at
their kites to the amount of money they
collected in sales each day.

Number of 12 18 24 30
Customers
Amount of Sales
(dollars) 180 | 210 | 240 | 270
A) Write the equation that represents this
situation. @ |

y= 5X+120

B) If this trend continues, how many
customers will need to stop and look at
Alex and Millie’s kites in order for their
sales in one day to reach $420? \'3 ‘-'20
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4. Write an equation in slope-intercept form
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4) with an undefined slope.
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5. éte the equation of a line passing through

6. Which equation represents the linear function
represented in the table below.
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7. Write the equation of a line passing thrciiih
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the point (3, -8) and a slope of zero.
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8. Dara is going to visit a college campus before
deciding where she will attend. She left her

house at 12PM. At 1 a’clack, she is 300 miles
from her destination. Two hours later, she is

180 miles from the college. +2

A. What is the y-intercept of the line and

what does it represent in this situation?
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B. What is the slope of the line and what
does it represent in this situation?
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C. What is the equation for this situation?
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9. The number of teachers, t, at Richardson High
School varies directly with the number of
teachers in RISD, r. If the number of teachers at
Richardson High School is 300 and the total
number of teacher in RISD is 1,000, write an
equation that describes the relationship between
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10. Which inequality represents the following
graph?
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11. Write an equation of a line that has a slope of

WE and that passes through the point (6, -1)
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12. The members of a school choir had a
fundraising drive last month. They sold candy
bars for $2 each and cans of popcorn for $5 each.

Derek sold mare than $300 worth of candy and

popcorn altogether. Which of the following points
could reasonably represent the number of

candy bars, x, and cans of popcorn, y, sold by

Derek last mo
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13. What is the rate of change of the function
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14. Graph the following inequality:
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solve for y; check fable n esloutster

15. Which of the points are solutions to the
equatlon Sx=y¥77?
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16. What is the value of y in the equation
Tx-3y=2lwhen x = 6?
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17. What is the x- mtercept of -4y =3x-127
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18. David is going to a fun center, and it costs $4
to ride bumper boats, x, and $6 to ride go-
karts, y. He has $32 to spend What is the

y-intercept of this situation and what does it
?
represent? ‘n.|. =S
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19. Graph the |nequaI|ty8x+4y >12.
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20.The graph below represents the cost of a long
distance phone call with a phone company
based on the number of minutes.

Cost
(in dollars)

0

Number of Minutes

Based on the graph, what is the slope and
what does it represent7
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